=LPDB
*|XSD 5R]NiDG 30

/  7\J

7N 7N 7N 7N 7N
SQURSRIRIID NXIXIRZD 4Z GU LQQRZDFIH | ZVSYAFTHVQH NHUXQN. 6RFIRRILD HGXNDFLL Z SURI QDG]Z $QGUDIRIND GZ GU = URQD OHUN 3HGDJIRJIND RIYIQD GZ Gl
o KDE 3URI 8- $GDPVND GIDIRE SHGDJRJIFIQH GZ ~ SURI QDG]Z =IHIEVNI SRVyi $GDP - 30 - JJDEHD - 30 KDE 3LDVHFND OD:JRUIDID =
gRQWD ™ : 30 3DZHi - 30 & =DIGFLD Z I\ELH JGDIQ\P =DIGFLD Z I\ELH JGDIQ\P o &
‘ =DICFID Z W\ELH JGDIQ\P =DICFLD Z W\ELH JGDIQ\P
=DICFID Z W\ELH JGDIQ\P | | |
7N 7N 7N 7N
OHIRG\ VIDINVINFTQH Z SHGDJIRJLFH 3VAFKRIRJID JDFKRZDE SQIRSRIRIID NXIIXIRZD Z G KDE 3IRI 3HGDJRJIND RIYIQD Z Gl
IDE  GU .RJHUIVND $JQHVIND = VSRHFIQ\FK Z Gl 8-" $GDPVND BIDIRE ORQIND - KDE 3LDVHFND OD:JRUIDID = 3
- .20387(52:$% 30 / ODUJDVIEVNL $QGUTHI 30 = o -
I =DICFID Z W\ELH JGDIQ\P 30 = =DICFID Z W\ELH JGDIQ\P =DICFID Z W\ELH JGDIQ\P
&z DIFID Z IRUPLH JGDIQHI
ﬁ 7\J
OHIRG\ VIDINVINFTQH Z SHGDJIRJLFH
IDE  GU .RJHIVND SJQHVIND 3 O
/
=DICFID Z W\ELH JGDIQ\P
7N 7N 7N
OHIRGRIRJID EDGDE SHGDJ FZ Gl (INND SUDF\ SHGDJRID GZ SURI OHIRGRIRJID EDGDE
5 RTHWND $JQIHVIND = 30 3HHNK -XWI 30 & SHGDJRIFIO\FK Z GU
o & =DIGFID Z IRUP'H JGDIQHI -R]HUVngSJQLHY]ND :
x =DICFID Z W\ELH JGDIQ\P o F
T = NJ  JDICFD Z IRUPH
WDG\FNIQH! = NI
DIGFD PO 3R]RVIDH
DICFLD Z IRUPLH JGDIQHI
- 7N
< JHNRIDN 0Z 30 =
>
a
N 7\G]
T (INND SUDF\ SHGDJRID GZ SURI
3HHNK -XWI 30 &
_ 7N
T OHIRG UHIDNVRZR NRQFHQIUXIaFH  IDE
> SURI QDG]Z =IHLEVN. 3DZHi = 3
7 o /
=DICFID Z IW\EIH JGDIQ\P
@
©




